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i = = %U(Amount)
(Description) H2(h7|z H1(H)712
549 3,210
=AY 51,501 -
626,066 236,553
A71Y FERERFLE 16,138 -
818 1,252
154 85
| & QLM KA 787 -
1,253 35
697,266 241,135
314,700 40,000
179,596 -
179 173
203 183
- 196
1,206 821
2,326 673
498,210 42,047
20,000 20,000
179,712 179,712
8 -
(623) -
(25) (623)
199,056 199,089
697,266 241,135
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i 5 = %(Amount)
(Description) H2(2hH7|Z H1(H)7| 2
I. Xpat
g Xda IRt 20,012 14,999
Y71EA-SFH| 5 a8t 51,501 -
AMZIS Q7 22X 28R} 793,205 319,558
O ZHOfl ' Rt Ak 4,525 -
S B RAF 818 1,252
=R PN 154 85
O A ' QUM RFAF 787 -
7| EFRFAH 6,700 248
NN | 877,702 336,141
o. £x
XpQI AN 314,700 40,000
HFSH ALY 351,496 93,100
EX=E=RY 179 173
238 2o 21| 203 183
O] ' QLA £ XY - 196
7|Etg &K 2,618 894
7| EFELAR 4,068 1,016
ERUEY 673,265 135,562
m. X2
= 20,000 20,000
ArELdo= 179,712 179,712
J|EFRtE I QA 8 -
H710jHo|d Loz 867 -
27l1=01Y 3,866 867
N | 204,437 200,579
BX| XS H| 877,702 336,141
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